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Note :

Question no. 1 is compulsory. Answer any four from
the rest of the questions. Use of log tables and
non-programmable calculators is allowed. Symbols have
their usual meaning.

1.  Answer any five parts : 10

(@)

(b)

(©)
(d)

©
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Draw the impedance diagrams of RL and
RC circuits.

Define the ripple factor of a rectifier. What
is the ratio of the rectification efficiency of a
full-wave rectifier to that of a half-wave
rectifier for identical diodes and same input
voltage and load ?

Why are class C amplifiers not preferred in
audio applications ?

Draw the block diagram of a typical power
supply.

Draw the circuit symbol of IC741. Label
the various terminals.
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Why is IC741 not used in the output stage
of an audio system ?

Certain memory is specified by 64K X 4.
What is the word size and the total number
of bits stored by the memory ?

Calculate the impedance at resonance
frequency and at 100 Hz above the
resonance frequency for the following
circuit :

05mH 10pF 100
L ———H—MWY

~
U
10V :
Write the highest number represented by

4 hexadecimal digits. What is its decimal

equivalent ?

Draw the output of a 2-input NAND
gate for the two input signals shown in the
figure :

1 ~—
Input - 2 :

0

1
Input-1
0
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4. (a)
(b)
5 (@)
(b)
6. (a)
(b)
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Draw simple circuit diagrams of three
different types of couplings between two
amplifiers.

Define slew rate of an op-amp. Calculate
the minimum slew rate required to produce
a triangular signal of +10 V amplitude

- and 100 kHz frequency at the output of an

op-amp.

Discuss, with the help of a labelled diagram,
the conduction processes in a semiconductor
under low and high applied fields.

Design a 4-channel inverting amplifier,
using op-amp, with gains —2, —4, —8 and
—16. Can all the 4 channels be connected
at the same time ?

Explain the working of Hartley oscillator.

Design and draw a Mod-6 counter using
J-K flip-flops.

Design an adjustable voltage regulator for
an output voltage 10 V to 20 V using
ICLM317.

State and prove Maximum Power Transfer
theorem.

1+4

2+3

4+1

1+4
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